ECOLIFE

MODEL : CF 9354-A (5') - EMERALD QUEEN BED

Assembly Instruction

Ttem AA 1pc Item AB 1pc Ttem AC 2 pes Ttem A 3lpes | ItemB 14pes | ItemC 4 pes
Headboard Footboard Side Rail Plastic Dowel ( 8 x 25) JCBC W M6 x 40 JCBC M6 x 40
Item AD 1pc Ttem AE 1pc Ttem AF 2 pes Item D 2 pes Ttem E 48 pes Ttem F 53 pes
16 Slats 09:95”/ Support leg
1547mm 2050mm 280mm Small Adjuster CSK M3.5 x 16 mm CSK M4 x 32 mm
Item AG 8 pes Item AH 8 pes Ttem Al 2 pes Item G 36pes | pem 8 pes Ttem I 6 pes
Footboard leg
Drawer Slide 500 Drawer Slide 500 70 x 70 x SO(H) CSK M4 x 50mm JCBC M6 x 30 Mini Fix Bolt
Ttem J 6 pes Ttem K. 6 pes Ttem L 52 pes
Mini Fix Housing Mini Fix Cap Power Nail %
Ttem M 16 pcs | Item N 1pc Item O 10 pes
Item 1 2pes | Item2 2pes | Ttem3 2pes | Ttem 4 2 pes d X @
Ka Drawer Front SR Drawer front FB Drawer Back SR Drawer Back White Nail Leg Allen Key 65 mm M6 Flat Washer
Panel Panel h
Item 5 2pes | Item 6 2pes | Item7 8pcs | Item8 8 pcs
MW:N_,M_EE, fotom _mu_,.wsﬁou_gima Botom Drawer Side Panel X
Item 9 1 pc Han 1 pe Item 11 2 pes Item 12 2 pes
Item 13 1pc Item 14 1pc Item 15 1pc Item 16 1pe
/.‘l.\ ? /&l. \
Item 17 1pc




 darg

ii ¢ doaig mun 1 doig jj dwes Y ST IOMEBIP
[[ews pue 1omeIp S1q o) sjquuasse 0) Aem oy | dIS

% w
a a
s =
W S}
% w
[ -+
a aQ
o <
o w




Step 8




-doys owes oy jeadar pue

oprs 1oyyo oy 0} 6T dipy g yim 3 wdySn pue g1 o) Hy yoeny 9] doig

L1 da1s

¢1 das

g1 do1s










z¢ dais

0¢ da1s




